
  

 why is it windy? (in Edmonton, this morning)

Because there is a strong pressure gradient over C. Alberta – see 
surface analysis (over)

 what is the 1000-500 hPa thickness at Edmonton?

From the sounding (over), 526 dam. By interpolation of thickness 
contours on the 500 hPa analysis or 0hr progs, about 523 dam.

 what will the thickness be at 12Z one week from now (12Z Tues 
15th), and what is the implied cooling?

From the meteogram, or by interpolation off the 180 hr prog (over), 
about 490 dam. This is a decrease of 526-490=36 dam,  
corresponding to 18oC cooling (you can prove this to yourself using 
Eqn. 1.37)

Questions for today – given as an example 



  



  
1000-500 hPa thickness is 5260 - 4 m = 5256 m = 526 dam (happens to be 
the same as the 500 hPa height, today)



  

MSC 500 hPa analysis 12Z Tues 8 Jan. 2013 – red numbers label thickness contours
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Predicted 
thickness over 
Edmonton 
between 492 and 
486 dam



  

thickness 
about 490 
dam

sfc temp 
about -40
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